
Facit till dugga 2 a) och 2 b) i kursen TMV 138,
2014 11 27

Dugga 2 a)

1. (a) falsk

(b) falsk

(c) sann

(d) sann

2. (a) ∫
x

(x2 − 1)3/2
dx = C − 1√

x2 − 1

(b) ∫ 2π

0

sin(x/2) dx = 4π.

3. ∫ ∞
−1

2

x2 + 4x+ 5
dx =

∫ ∞
−1

2

(x+ 1)2 + 1
dx =

= lim
b→∞

2 [arctan(x+ 2)]
b
−1 = 2

(π
2
− π

4

)
=
π

2

Dugga 2 b)

1. (a) sann

(b) falsk

(c) falsk

(d) sann

2. (a) ∫
x

(x2 + 1)3/2
dx = C − 1√

x2 + 1
.

(b) ∫ 2π

0

4x cos(2x) dx = 0.

3. ∫ 0

−1

x+ 2

x2 + 4x+ 5
dx =

1

2

∫ 0

−1

2x+ 4

x2 + 4x+ 5
dx =

1

2

[
ln(x2 + 4x+ 5)

]0
−1 =

=
1

2
(ln 5− ln 2) =

1

2
ln

(
5

2

) .

1


